Office	District	Party	Candidate Name	Status	Won	Total Receipts	Total Disbursements	Votes	Cost Per Vote
House	1	Democrat	Nakashima, Mark	Incumbent	Y	\$31,705.00	\$48,179.31	4,834	\$9.97
House	1	Democrat	Pajimola, Noralyn	Challenger	Ν	\$7,507.34	\$6,558.87	1,709	\$3.84
House	2	Democrat	Tsuji, Clifton	Incumbent	Y	\$51,123.35	\$29,385.25	5,814	\$5.05
House	3	Libertarian	Fogel, Frederick	Open	Ν	\$6,000.00	\$5,794.10	860	\$6.74
House	3	Republican	Hapai, Marlene	Open	Ν	\$39,987.34	\$45,591.21	2,831	\$16.10
House	3	Democrat	Onishi, Richard	Open	Y	\$68,871.88	\$63,056.97	4,937	\$12.77
House	3	Democrat	Smart, Brittany	Open	Ν	\$2,427.40	\$2,243.86	2,259	\$0.99
House	4	Non-Partisan	Cermelj, Hope	Challenger	Ν	\$352.22	\$352.22	35	\$10.06
House	4	Democrat	Hanohano, Faye	Incumbent	Y	\$14,435.00	\$19,664.58	3,371	\$5.83
House	4	Non-Partisan	Stephens, Aaron	Challenger	Ν	\$153.08	\$153.08	32	\$4.78
House	5	Republican	Bateman, David	Challenger	Ν	\$21,793.04	\$18,490.69	2,631	\$7.03
House	5	Democrat	Coffman, George	Incumbent	Y	\$27,297.44	\$35,036.62	5,460	\$6.42
House	5	Democrat	Oyama, Leolani	Challenger	Ν	\$5,473.24	\$5,725.28	1,164	\$4.92
House	6	Democrat	Akaka, Kaleihikina	Open	Ν	\$9,318.75	\$8,089.25	1,022	\$7.92
House	6	Republican	Breslin, John "Mike"	Open	Ν	\$2,815.00	\$2,820.76	442	\$6.38
House	6	Republican	Ebert, Roy	Open	Ν	\$4,747.75	\$4,697.29	2,487	\$1.89
House	6	Democrat	Housel, Fred	Open	Ν	\$6,748.95	\$11,704.66	461	\$25.39
House	6	Democrat	Leslie, Bucky	Open	Ν	\$8,060.00	\$7,706.63	734	\$10.50
House	6	Democrat	Lowen, Nicole	Open	Y	\$34,872.00	\$34,026.87	5,336	\$6.38
House	7	Democrat	Evans, Cindy	Incumbent	Y	\$9,850.00	\$5,438.89	3,426	\$1.59
House	8	Democrat	Souki, Joseph	Incumbent	Y	\$51,725.00	\$40,050.11	3,606	\$11.11
House	9	Democrat	Keith-Agaran, Gilbert	Incumbent	Y	\$92,502.21	\$89,821.07	2,282	\$39.36
House	9	Democrat	Pontanilla, Joseph	Challenger	Ν	\$25,168.73	\$32,080.36	1,583	\$20.27
House	10	Democrat	Kaahui, Edward	Challenger	Ν	\$3,487.00	\$3,487.00	540	\$6.46
House	10	Republican	Marten, Chayne	Challenger	Ν	\$0.00	\$0.00	1,961	\$0.00
House	10	Democrat	McKelvey, Angus	Incumbent	Y	\$36,400.00	\$30,487.44	4,255	\$7.17
House	11	Democrat	Bertram, Joe	Challenger	Ν	\$0.00	\$0.00	324	\$0.00
House	11	Republican	Fontaine, George	Incumbent	Ν	\$35,288.44	\$34,846.59	2,772	\$12.57
House	11	Democrat	Halperin, Susan "Netra"	Challenger	Ν	\$33,075.91	\$31,316.85	682	\$45.92

Office	District	Party	Candidate Name	Status	Won	Total Receipts	Total Disbursements	Votes	Cost Per Vote
House	11	Democrat	Hanlon, Colin	Challenger	Ν	\$46,372.88	\$46,272.88	347	\$133.35
House	11	Democrat	Ing, Mark	Challenger	Y	\$33,324.12	\$25,242.02	4,813	\$5.24
House	12	Republican	Kalama, Ekolu	Challenger	Ν	\$175.00	\$175.00	2,079	\$0.08
House	12	Democrat	Yamashita, Kyle	Incumbent	Y	\$62,828.84	\$51,345.02	7,456	\$6.89
House	13	Democrat	Carroll, Mele	Incumbent	Y	\$8,850.00	\$4,429.07	5,777	\$0.77
House	13	Republican	Russell, Simon	Challenger	Ν	\$10,258.07	\$10,257.60	2,128	\$4.82
House	14	Democrat	Kawakami, Derek	Incumbent	Y	\$42,125.00	\$28,793.93	3,261	\$8.83
House	15	Democrat	Tokioka, James	Incumbent	Y	\$40,450.00	\$19,639.31	3,485	\$5.64
House	16	Democrat	Morikawa, Daynette	Incumbent	Y	\$28,063.00	\$35,219.91	6,049	\$5.82
House	16	Republican	Trujillo, Troy	Challenger	Ν	\$794.00	\$783.53	1,581	\$0.50
House	17	Republican	Ward, Gene	Incumbent	Y	\$31,330.00	\$23,419.98	2,039	\$11.49
House	18	Democrat	Hashem, Mark	Incumbent	Y	\$41,693.27	\$36,189.80	7,306	\$4.95
House	18	Republican	Low, Jeremy	Challenger	Ν	\$36,465.53	\$27,025.31	4,704	\$5.75
House	18	Republican	Wingard, Lori	Challenger	Ν	\$6,585.95	\$5,690.86	887	\$6.42
House	19	Democrat	Kobayashi, Bertrand	Open	Y	\$34,712.27	\$32,208.62	6,748	\$4.77
House	19	Democrat	Yamane, Brian	Open	Ν	\$19,560.00	\$12,402.29	1,973	\$6.29
House	19	Republican	Young, Darrell	Open	Ν	\$6,997.41	\$6,556.15	3,052	\$2.15
House	20	Republican	Allen, Julia	Challenger	Ν	\$1,375.00	\$440.00	1,179	\$0.37
House	20	Green	Bonk, Keiko	Challenger	Ν	\$40,820.02	\$38,761.60	3,142	\$12.34
House	20	Non-Partisan	Heaukulani, Joseph	Challenger	Ν	\$0.00	\$0.00	13	\$0.00
House	20	Democrat	Say, Calvin	Incumbent	Y	\$179,027.62	\$91,764.61	5,704	\$16.09
House	20	Democrat	Synan, Dwight	Challenger	Ν	\$351.12	\$325.56	1,134	\$0.29
House	21	Democrat	Nishimoto, Scott	Incumbent	Y	\$41,975.00	\$31,085.46	3,031	\$10.26
House	21	Democrat	Takamura, Clifton	Challenger	Ν	\$0.00	\$0.00	333	\$0.00
House	22	Democrat	Brower, Tom	Incumbent	Y	\$17,075.00	\$11,726.10	4,317	\$2.72
House	22	Republican	Hester, Marcus	Challenger	Ν	\$850.00	\$785.83	1,886	\$0.42
House	23	Democrat	Choy, Isaac	Incumbent	Y	\$74,101.25	\$43,938.05	7,502	\$5.86
House	23	Republican	Thomson, Zachary	Challenger	Ν	\$0.00	\$0.00	1,749	\$0.00
House	24	Democrat	Belatti, Della Au	Incumbent	Y	\$18,043.00	\$19,185.90	5,362	\$3.58

Office	District	Party	Candidate Name	Status	Won	Total Receipts	Total Disbursements	Votes	Cost Per Vote
House	24	Democrat	Case, Kimberly	Challenger	Ν	\$0.00	\$499.76	1,101	\$0.45
House	24	Republican	Sabey, Isaiah	Challenger	Ν	\$10,747.76	\$14,217.43	2,333	\$6.09
House	25	Democrat	Luke, Sylvia	Incumbent	Y	\$31,015.00	\$22,389.39	4,319	\$5.18
House	26	Democrat	Ahu-Isa, Lei	Challenger	Ν	\$43,453.10	\$43,453.10	1,043	\$41.66
House	26	Republican	Au, Tiffany	Challenger	Ν	\$21,097.00	\$16,347.37	2,670	\$6.12
House	26	Democrat	Kapuniai, Ryan	Challenger	Ν	\$2,569.78	\$2,264.78	234	\$9.68
House	26	Democrat	Saiki, Scott	Incumbent	Y	\$31,310.12	\$35,148.66	4,161	\$8.45
House	27	Republican	Ching, Corinne	Incumbent	Ν	\$15,880.00	\$17,398.38	3,573	\$4.87
House	27	Republican	Kim, Brian	Challenger	Ν	\$2,700.00	\$0.00	210	\$0.00
House	27	Democrat	Ohno, Takashi	Challenger	Y	\$40,593.56	\$35,084.38	4,842	\$7.25
House	28	Republican	Kaapu, Carole	Challenger	Ν	\$21,591.16	\$30,937.43	1,297	\$23.85
House	28	Democrat	Mizuno, John	Incumbent	Y	\$42,072.29	\$49,846.04	4,440	\$11.23
House	29	Democrat	Holt, Daniel	Challenger	Ν	\$20,225.00	\$20,984.17	589	\$35.63
House	29	Democrat	Rhoads, Karl	Incumbent	Y	\$60,686.27	\$50,980.64	1,603	\$31.80
House	30	Democrat	Cachola, Romy	Open	Y	\$55,749.66	\$76,360.87	1,236	\$61.78
House	30	Democrat	Velasco, Nicole	Open	Ν	\$41,864.88	\$25,774.78	1,116	\$23.10
House	31	Democrat	Gutierrez, Lynne	Challenger	Ν	\$9,150.00	\$7,750.94	967	\$8.02
House	31	Republican	Johanson, Aaron	Incumbent	Y	\$58,236.35	\$34,583.04	4,013	\$8.62
House	31	Democrat	Sharsh, Eleanor	Challenger	Ν	\$5,659.00	\$6,463.48	2,140	\$3.02
House	31	Democrat	Villaruz, Danilo (Danny)	Challenger	Ν	\$5,240.00	\$7,206.30	592	\$12.17
House	32	Democrat	Ichiyama, Linda	Incumbent	Y	\$48,223.73	\$41,750.30	5,705	\$7.32
House	32	Republican	Shimizu, Garner	Challenger	Ν	\$20,780.90	\$23,812.32	2,375	\$10.03
House	33	Democrat	Giugni, Heather	Incumbent	Ν	\$79,459.33	\$75,968.25	2,008	\$37.83
House	33	Republican	Kong, Samuel	Challenger	Ν	\$11,083.10	\$12,934.23	3,556	\$3.64
House	33	Democrat	Takai, K. Mark	Incumbent	Y	\$82,585.00	\$113,587.56	7,277	\$15.61
House	34	Democrat	Takayama, Gregg	Open	Y	\$47,935.00	\$35,877.71	3,359	\$10.68
House	34	Democrat	Tungpalan, Eloise Yamashita	Open	Ν	\$24,214.56	\$24,214.56	3,127	\$7.74
House	35	Democrat	Takumi, Roy	Incumbent	Y	\$21,065.00	\$24,212.78	3,262	\$7.42
House	36	Republican	Apana, Melvin	Challenger	Ν	\$0.00	\$0.00	578	\$0.00

Office	District	Party	Candidate Name	Status	Won	Total Receipts	Total Disbursements	Votes	Cost Per Vote
House	36	Republican	Fukumoto, Beth	Challenger	Y	\$34,851.14	\$35,100.29	5,334	\$6.58
House	36	Democrat	Lee, Marilyn	Incumbent	Ν	\$46,570.00	\$67,218.83	4,837	\$13.90
House	37	Republican	Svrcina, Emil	Challenger	Ν	\$3,020.00	\$2,903.96	2,163	\$1.34
House	37	Democrat	Yamane, Ryan	Incumbent	Y	\$80,630.00	\$53,020.12	8,660	\$6.12
House	38	Democrat	Aquino, Henry	Incumbent	Y	\$25,365.00	\$15,856.12	3,371	\$4.70
House	39	Democrat	Cullen, Ty Diaz	Incumbent	Y	\$36,560.00	\$29,548.41	5,282	\$5.59
House	39	Republican	Wong, Carl	Challenger	Ν	\$0.00	\$795.00	1,697	\$0.47
House	40	Democrat	Fevella, Kurt	Open	Ν	\$3,332.56	\$1,726.58	503	\$3.43
House	40	Democrat	Manabat, Christopher	Open	Ν	\$8,141.02	\$10,897.74	3,106	\$3.51
House	40	Democrat	Martinez, Rosebella	Open	Ν	\$29,754.00	\$26,110.00	582	\$44.86
House	40	Republican	McDermott, Bob	Open	Y	\$22,227.49	\$22,214.64	3,249	\$6.84
House	40	Democrat	Mindo, Romeo	Open	Ν	\$8,968.88	\$6,165.30	553	\$11.15
House	40	Democrat	Puletasi, Palasi	Open	Ν	\$0.00	\$100.00	144	\$0.69
House	40	Democrat	Rattner, Joseph	Open	Ν	\$12,814.36	\$12,814.36	141	\$90.88
House	41	Democrat	Cabanilla, Rida	Incumbent	Y	\$24,658.52	\$15,893.98	4,330	\$3.67
House	41	Democrat	LoPresti, Matthew	Challenger	Ν	\$13,183.41	\$11,442.41	1,268	\$9.02
House	41	Republican	Reeder, Adam	Challenger	Ν	\$2,625.00	\$1,890.15	2,730	\$0.69
House	42	Republican	Capelouto, Marissa	Challenger	Ν	\$9,232.51	\$11,553.58	2,256	\$5.12
House	42	Democrat	Har, Sharon	Incumbent	Y	\$56,897.21	\$36,574.24	6,251	\$5.85
House	43	Democrat	Aipoalani, Hanalei	Challenger	Ν	\$9,172.23	\$7,164.50	910	\$7.87
House	43	Democrat	Awana, Karen	Incumbent	Y	\$13,550.00	\$7,248.76	4,029	\$1.80
House	43	Republican	Butler, Glenn	Challenger	Ν	\$1,746.62	\$2,003.27	1,484	\$1.35
House	43	Republican	Ku, Tercia	Challenger	Ν	\$175.00	\$175.00	179	\$0.98
House	43	Democrat	McKeague-Gomes, Leslie	Challenger	Ν	\$2,625.00	\$4,285.15	195	\$21.98
House	43	Democrat	Rezentes, Cynthia	Challenger	Ν	\$150.00	\$663.79	289	\$2.30
House	44	Republican	Higa, Creighton	Challenger	Ν	\$1,531.01	\$1,348.01	1,329	\$1.01
House	44	Democrat	Jordan, Georgette "Jo"	Incumbent	Y	\$32,859.26	\$26,196.02	3,728	\$7.03
House	44	Democrat	Perry, Johnnie-Mae	Challenger	Ν	\$423.11	\$523.11	710	\$0.74
House	45	Democrat	Bradshaw, Jacob	Open	Ν	\$50,169.66	\$49,857.55	2,540	\$19.63

Office	District	Party	Candidate Name	Status	Won	Total Receipts	Total Disbursements	Votes	Cost Per Vote
House	45	Republican	Cheape, Lauren	Open	Y	\$31,384.09	\$31,876.80	2,625	\$12.14
House	45	Democrat	Lunasco, Oliver	Open	Ν	\$5,961.86	\$5,961.86	738	\$8.08
House	46	Republican	Murphy, Christopher	Challenger	Ν	\$329.83	\$329.83	1,348	\$0.24
House	46	Democrat	Oshiro, Marcus	Incumbent	Y	\$81,289.43	\$61,252.13	4,755	\$12.88
House	47	Democrat	Beirne, D. Ululani	Challenger	Ν	\$14,818.70	\$10,357.12	3,162	\$3.28
House	47	Republican	Fale, Richard	Challenger	Y	\$36,287.00	\$15,564.71	4,381	\$3.55
House	47	Republican	Riviere, Gil	Incumbent	Ν	\$28,074.00	\$25,617.81	651	\$39.35
House	48	Democrat	Chong, Dwight	Incumbent	Ν	\$61,755.78	\$83,804.99	2,931	\$28.59
House	48	Democrat	Wooley, Jessica	Incumbent	Y	\$50,597.57	\$71,504.32	3,846	\$18.59
House	49	Democrat	Ito, Ken	Incumbent	Y	\$38,683.00	\$40,548.02	6,192	\$6.55
House	50	Republican	Thielen, Cynthia	Incumbent	Y	\$19,260.00	\$6,610.55	1,159	\$5.70
House	51	Democrat	Lee, Christopher	Incumbent	Y	\$25,850.00	\$21,731.70	8,548	\$2.54
House	51	Republican	Vincent, Henry	Challenger	Ν	\$1,950.00	\$1,989.58	1,992	\$1.00

-

Total (129 Candidates)

\$3,238,051.22

\$2,908,959.14